ooooo
ROIOODOOOODOO
(5) 000000000 (D)

1€c20021107 0000 shimo@is.titech.ac.jp

goboooobooobooooooog
(random variable, distribution function, density function)

e 0000000 XOODDOO0
000000 Fy(z) =Pr{X <z}

F
oooooo ?Q&H&‘x
dx

e 0 A0DOODO
PriX €A} = [ fx(@) dz = [I4(0)fx(z)da

e 000 A= (—00,a]00
Pr{X €A} = [*fx(2)dw = Fx(a)

0000 (uinform distribution)

e 00 (a,)00000: U(a,b)

-

a<z<b
z<a,0Ofrx>b

i
S]

Ix(z)

z<a
a<x<b
z>b

??OO
]

Fx(z)

|
2

= o

##¢ OO 00

help(dunif)

x <- seq(-0.5,1.5,length=300)
plot(x,dunif (x),type="1")
plot(x,punif (x),type="1")
v <- runif (1000)
hist(v,nclass=10)
abline(h=100)

v2 <- runif (10000)
hist(v2,nclass=10)
abline(h=1000)
sum(v<=0.1) / length(v)
[1] 0.091

> sum(v2<=0.1) / length(v2)
[1] 0.0998

V V V V V V V V V V V Vv

0000 (normal distribution)

e 00e0OIObOOOOD: N(a,b)

1 (z—a)?
fx (@) A\ T v

I
©
X
o

Il
-
8
&H
=
~~
w
N
U
»

Fx(x)

##¢ 0000

help(dnorm)

x <- seq(-3.5,3.5,1length=300)
plot(x,dnorm(x),type="1")
plot(x,pnorm(x),type="1")

v <- rnorm(1000)
hist(v,nclass=20)

v2 <~ rnorm(10000)
hist(v2,nclass=20)
lines(x,dnorm(x)*0.5%10000)
sum(v<=-2) / length(v)

[1] 0.017

> sum(v2<=-2) / length(v2)
[1] 0.0237

> pnorm(-2)

[1] 0.02275013

V V.V V V V V V V V Vv

00000 (gamma distribution)

e shape alscale s0O0O0000: Ga(a,s)
1 a—1
fx(@)=—-— Aav exp A\mv , x>0

sC(a) \s s
r(a) H\ooo&nlpmxg\&v da
Mn)=mn-1)!
T a=3s=1

>##¢ D0 000

> help(dgamma)

> x <- seq(0,10,1length=300)

> gamma(3)

[1] 2
plot(x,dgamma(x,3),type="1")
plot(x,pgamma(x,3),type="1")
v <- rgamma(1000,3)
hist(v,nclass=20)

v2 <- rgamma(10000,3)
hist(v2,nclass=20)
lines(x,dgamma(x,3)*0.5%10000)
sum(v>7) / length(v)

[1] 0.035

> sum(v2>7) / length(v2)

[1] 0.029

> 1-pgamma(7,3)

[1] 0.02963616

>
>
>
>
>
>
>
>



O0000OOshape0 000 (s=1)

e JOODOODOD
E(X) = \oooagskmav&mwﬂpm

o ]
VOO = [ - BOO x () de = as?

## 000000 shape0 000000

x <- seq(0,20,length=500)

plot(x,dgamma(x,1) ,type="1"); abline(v=1,1ty=3)
plot(x,dgamma(x,2),type="1"); abline(v=2,1ty=3)
plot(x,dgamma(x,5) ,type="1"); abline(v=5,1ty=3)
plot (x,dgamma(x,10) ,type="1"); abline(v=10,1ty=3)
> v <- rgamma(100000,1); c(mean(v),var(v))

[1] 1.001625 1.011608

> v <- rgamma(100000,2); c(mean(v),var(v))

[1] 2.004979 2.012081

> v <- rgamma(100000,5); c(mean(v),var(v))

[1] 5.000123 5.007556

> v <- rgamma(100000,10); c(mean(v),var(v))

[1] 10.00437 10.08082

vV V. V V VvV VvV

000000 (chi-squared distribution)

e 000 (degrees of freedom)O n0 x200: x2

1 z\"/2-1 T
& =gramls) oe(5) >0
oob0n0OO00DO
Js\mvuﬁmﬁm%“ (n—2)=(m—-2)(n—4)

F@=vm ) =3/m.r3) =3vr
e JUIODOOOODODOOOOODO
Ga(n/2,2)000 shape:a =n/2, scale:s=2000000

e Un00O0D0O0O0OOOOOOOOOOOOOOOOOOODOO
oooooooooooooo

gogboobooooooooon

Z1,Z0, ..., Zn ~ N(0,1) i.i.d.

X=274+23+..-+22

### 0000000000000O0
n <- 1; x <- matrix(rnorm(10000%*n),n);

y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0,max(y),length=300)

vV V VvV Vv

hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n))

googoooon

N&Z?AQTHV, it=1,...,n A_H_Dv

X=74+25+4+---+22

> n <- 2; x <- matrix(rnorm(10000%n),n); X ~ 2 F) 5= QM 4.+ QM
X ~ Xm > y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0,max(y),length=300) X:A ), ! "
> hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n))
. > n <- 5; x <- matrix(rnorm(10000%n),n); s
> y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0,max(y),length=300) .
: > hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n)) i i: i’
+ > n <- 10; x <- matrix(rnorm(10000%n),n); )
> y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0,max(y),length=300) - - - §
T 7 : =t R D > hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n)) _ . _ y _ _ -
n=1 n=2 n=—5 n=10 n=>50= n=>50= n=>50=125
o (a; =0) (a;=1) (a;=5) 1w
00O (reproductivity) oo
>### 00000000
> n <- 5; wnAl 0; z<- ENMHwNAHbMHEAWMooo*BV+w.bvA . . e X1 ~ N(ay,b1),Xo~ N(ap,bp); (DOODOO) . 5 . 5
> x<- apply(z,2,function(v) sum(v*v)); zz <- seq(0,max(x),length=300 1™~ Xnqs 2~ Xn ooooo
> hist(x,prob=T,nclass=30); lines(zz,dchisq(zz,n,ncp=n*a~2)) N«H + vﬂm ~ ZADH + a2, 3. + vwv ! 2
y = X1/m
>n <- 5; a <- 1; z<- matrix(rnorm(10000%n)+a,n) e X1 ~ Ga(ay,s), Xo ~ Ga(az,s); (00O 0OO0) - XM\SM
> x<- apply(z,2,function(v) sum(v*v)); zz <- seq(0,max(x),length=300) X1 4+ Xo ~ Galay + as, s
> hist(x,prob=T,nclass=30); lines(zz,dchisq(zz,n,ncp=n*a~2)) ! 2 A ! 2 v obooyoooo A\‘:LSMvD rooooono
2 —(n14+ns)/2
2 2. 1 n m/ n 12
> n <- 5; a <- 5; z<- matrix(rnorm(10000%*n)+a,n) o »vmn_. ~ Xﬁfkm ~ X‘:m. A_H_ oooo v .\.M\A@v = |H 1 |T |H@ @BH\M\H
> x<- apply(z,2,function(v) sum(v*v)); zz <- seq(0,max(x),length=300) X1 4 Xo ~ XM WAS\H\MQS\M\MV n2 n2
> hist(x,prob=T,nclass=30); lines(zz,dchisq(zz,n,ncp=n*a~2)) mitn2 _|A v_lqu
goooooooDo0o0ooboooooooooo Wm?@vum‘
r(a+0b)

2 2 2 2 2 2
ANH +...+N:Hv+AN‘\S+H+...N‘\S+SMV“NH +...+N‘\S+@w
goboobooboobooboobbooooooboo

> nl <- 1; n2 <- 10; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
>y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)



hist (y,prob=T,breaks=100); lines(yy,df(yy,n1,n2))

nl <- 5; n2 <- 10; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist (y,prob=T,breaks=100); lines(yy,df(yy,n1,n2))

nl <- 10; n2 <- 10; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,n1,n2))

nl <- 1; n2 <- 50; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,n1,n2))

nl <- 5; n2 <- 50; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,n1,n2))

nl <- 10; n2 <- 50; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,n1,n2))

Hitogramofy

Hisogran oty Hstogram oty

ny=1,np =50 ny = 5,np = 50

nq = 10,np = 50,

t0Ogd

Z~N(0,1), X~x2 00000
VA
Y =———
X/n
0000YDOOORDt00000O
1A3+Hv 22 —(n+1)/2
.\v\ﬁcv”$ 1+ —
Vvl (3) n

00Y20000(1,»)0 FOOOOOO

> ### t0 0

> n <= 5; z <= rnorm(10000); x <- rchisq(10000,n); y <- z/sqrt(x/n)

> yy <- seq(min(y),max(y),length=300)

> hist (y,prob=T,nclass=50) ;1lines(yy,dt(yy,n));lines(yy,dnorm(yy),col=2)

14

n <- 10; z <- rnorm(10000); x <- rchisq(10000,n); y <- z/sqrt(x/n)
yy <- seq(min(y) ,max(y),length=300)

gooon

hist (y,prob=T,nclass=50) ;lines(yy,dt(yy,n));lines(yy,dnorm(yy),col=2) e JODOODO
n <- 30; z <- rnorm(10000); x <- rchisq(10000,n); y <- z/sqrt(x/n) Yi = Qo +\®H&E. +\®M&s.w + - +Qﬁ&§+ € = ”_J ceen T
yy <- seq(min(y) ,max(y),length=300) 2 P
hist (y,prob=T,nclass=50) ;lines(yy,dt(yy,n));lines(yy,dnorm(yy),col=2) oooo A——v €1,... ,en ~ N(0,0%) i.i.d.
c.f. cov(e;,ej) =0 for i £ j
’ : e0ODOOD
. . y=XpB+e €~ Ny(0,0°I)
. ) e OIDODUOOOODOOO
. . . \QO:QHT..“QE“O.M
n="5
15 16
goooooo ooooooo QROOCOOODOO
3 — / -1y
ex1,...,2n~N(0,02)00000000 B=(XX)""Xy X—on
— ! —1 v/ =
(@) = f(x1) - f(an) = (X X) T X(XB+e)
1 N g2 =B84 (X'X)"1X'e @HE?.HVQE_D3XQ+CDDDDDDDDDDQE+HT..“Q:\HD
= —exp|- > 0000Q* =[gp1,-+qy_1]000
V(2mao)" i=120 000 (000)000000000000O00O0O0O0D0OO0DODOO0 _ N .
@H—QQQ H”—QO“...LN:\H_“ @@”Nﬁ

e 000000000000 X00000000
x ~ Np(p,X)
fo(@;p,B) = (2m) 28T exp [<3(x — p)'S7 (@ - )
nxn00X = (0;;)0000;0 2;02;0000
ex1,...,on~N(0,02)0 0000000
x ~ Np(0,0°1,)

E(B) =B+ (X'X)"1X'E(e) =

V(B) =

E(B-8B-8))
BE[{(X'X)7 X e} {(X'X) 71 Xe}]
(X'X)1X'B(ee) X (X'X) 7!
o?(X'x)7!

B~ Np(B,0%(X'X)71)

QA +Q QY =1,
§=X(X'X)"' X'y = QQ'y =Aodo + - + 34,
e=y-9=Un-QQ)y=QQ "y =3, 11q,41+ - + gy,

Yi=dqy, i=1,...,n

19



QROOOOOOOOOO

i =dy=qi(XB+e) =~ +de, €~ Nu(0,0°In)

Sh_irigBi i=0,...,p

i = q; XB = q;QRB a i=pt1....m

E® ) =
cov(3;,%;) = E{(%i —w)(5; — 7))} = aiE {e€'} q; = o°5;;

4 ~ Nn(~, QMNSV

QROOOOOOO
e 000 (p)

g =7%0q0+ -+ Vqp

e 000 (k)
@Qav = _”QOV... JQNA”_

Y0
QQ& — @QV\@ =|1|, F=dqy

Yk

9M = @WQW'y = QW3®) = 50q0 + - + 14y

Oooo0 (residual sum of squares)

e 00O (k)
RSS®) = e®|2 =574, + - +437
00000 (k)000000 ygqq = =79 =0000
mmmva\QmZXWlep
D000000XR ,4117/0?000000000
e0000D (UOO(p)DOODDODODO)
E(RSSP) = o2(n—p—-1)

ooo (k (K ) ~ ~ googo
(k) e® =y g® =T, - QWMWY =5 L 1g511 + - +na, ®
V1= =M =0 52— 158
e 000 (0) n—p-1
20 @HS”@OQO 21 22
000 (k)Doo 000 (0000 000X, y0OOOODDOOOO
RSS®) — pgs(®) _ &w.I +...+\><m 2 (5 FOOOO £ <- mylsfit(X,y) # 0000
2 = 2 ~ Xp—k o r2 <= cor(y,f$pred)"2 # 0000000
7 7 F = Ammmﬁ vlmmmgvv\ﬁ fs <= (r2/(1-r2)) * (nrow(X)-ncol(X)-1)/ncol(X) # FOOD
5 QM:Tn_.lT...lTJ\W NW.WMC&\AB\E\HV pv <- pf(fs,ncol(X),nrow(X)-ncol(X)-1,lower=F) # 00O
= = )
o2 — A+ + 7 XB\@\H 0000r2, fs, pvO f$fsummary0 0000000000
5 L. /2
mm..mAﬁvlw\mlquTnT\w\m 5 J\NTTHL_l + 9 p
2 52 ~ Xn—p-1 _ R2 y n—p—1
00000 (k)0000000006=0000 1-R? P
wHAmmm@|mmm§v\€|Sz . ) 000 R20000 (p)00D00O0OOO0O00D0OOOOOO
RSS®)/(n —p— 1) pkn [P St
006>0000 FODOODODOOOOOODOO FOODOOOOOO AR+ A7

000 (p-value) =Pr{X >F}, X~F, pn 1

0000000000 (%) 0000000000 o0oooooo

23

00000000 (00000000 FOOODO0O0O (pn—p—1)0F
ooooo

24

00O (p—1)000

_ (RSS®-1 _ pss®) 52 2

F = = L —=
RSS(® /(n—p—-1) 52
ooo
B ~ ~
t=—L—  Fp=rphp
G/|rppl

e 00000000 (p—1)000000D0 FOODOOD00 (1, n—p—1)
0FO000D000t0000000n—p—10+00000000
0000000000B,0000000000

e« 00000000000D00D0000D0ODO By,...,800000
000000000000 (X’X)~"'000000000e00000
rpp=+1/4/a0000000

25

ooox, ygoooooooooo

X1 <- ¢bind(1,X) # JOOODOOOOO

a <- diag(solve(t(X1) %*% X1)) # 00000000000
1/sqrt(a) # 00000000 ROOOOOOOOOOOOOOOOOO
qr.R(qr(x1)) # RODO

f <- mylsfit(X,y) # 0000

s2 <- sum(f$resid"2)/(nrow(X)-ncol(X)-1) # O 00O OODO0O

ts <- f$coef/sqrt(s2+a) # OO0 O00OO0O0 OO0

pv <- pt(abs(ts),nrow(X)-ncol(X)-1,lower=F)*2 # 000

0000 ts, pvd f$tsummary0 0000000000

ooo oo

1. 0000000000000 O0O0O0O0000O0O00O0OOO0O00O00
0000D0=010000000000002x10000000000000

_[10 s |1 05

K= 120/ “los 2
0000 0000000 =RROz~ Ny(0,I5)00z=Rz+p
ooooo

2. 000o0oooooo0o0b0y = =z + 200000000
hist(y,prob=T) 00000000000 yO000O0O0OO0O0DODOOOO
goooooooooo

3. 0000000000D00O00DO0DO000O000O0O0O00O00O0O0
oooooooooooooooooobOoOoOoooObOOoOOO0OO00000
ooooooooooo
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4. 0000000000 (z,y),i=1,...,n000000000000
0000000000000000000000000000000000
0000000000000

n<-30 #0000 n=30

x <- runif(n,min=-3,max=3) # x ~ U(-3,3)0n000
y<-3+2xx +x2# 0000 y=3+2x+x"2 000
y <- y + rnorm(n,mean=0,sd=1) # JOON(0,1)0000

5. 00000000000000R2000000000(0) 00000
00000 FOO0O0O00O0O00O0O00O000 f$fsummaryd 00000

6. 000O0ODOOO0OO0DOO0OODOOO0O0ODOOOO0OOO0O0Ot0DO
00000000000 f$tsummaryd 00000




